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bsfoszo BoFgmogos Lol gemMA6DMI0 0056 MmGImTo (E<0):

—Vo, for —a<x <a,

V)= 0, for |x| = a,

Y




h* d*y Vo = Ev.

2m dx?
0 dM3oMgmdgdo: 3960 33mas6H9Md9d0:
Fe "%, for x = a, Fe ™™ (x> a)
V(x)={ Dcos(lx). for0<x <a. P(z) = ¢ Csin(lz) (0 <z <a)
¥ (—x). for x < 0. —ah(—x) [z 0)

v2m(E + Vp) JOWE
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o 9yMds6gmdgdo: 39530 3 M3o0gMd9do:

Fe™ " = Dcos(la). Fe ™ = Csin(la)

—kFe ™™ = —IDsin(la). —Fre ™ = Clcos(la)

k = I tan(la).

AM9bL396IbE O 45bEHME90900 L3900
9696029303410 ™bggdoLsMZ0U:

tanz=\/(zu{z)3—1. —eotz = -\/{:ﬂ/:)?—l

d
z=la, gp= E\,’Zmi’i}.
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©™b7900L 156808 g3MMdS MLsliGrmEm Lo®IoL Lggermen MmGAmdo:

1s—3.1415
1p — 4.4934
1d - 5.7635
2s — 6.283
1f — 6.9679
2p —7.7253
1g—8.1826
2d —9.095
1h —9.3558
35 —9.4245

2f—-10.4171



= b e

3p—10.9041

2g —11.7049
3d —12.3229
4s—12.566
2h —12.9665
3f-13.696
4p - 14.0662
3g - 15.0397
4d - 15.5146
3h—16.35
4f — 16.9236

4g — 18.3016



